
 

 

Unit (10)   

(VOCABULARY) 

From a, b, c and d choose the correct answer:   

1- The weather report gave a ..................... of more snow and icy roads.  

     a- falsehood                        b- vehicle   

     c- warning                         d- perseverance   

2- Smoke alarms are so sensitive that they can go off when they .............. 

     smoke or cooking fumes.  

    a- detect                             b- object  

    c- shred                               d- overcome   

3- The chemical solution was ..................... with water to achieve the  

    desired concentration. 

    a- venomous                       b- watchful   

    c- attached                          d- diluted  

4- The secretary .........................the documents containing sensitive  

     information before disposing of them. 

    a- collided                            b- disregarded   

    c- shredded                         d- inflated   

5- Great works are performed by .......................... not by strength.   

    a- perseverance                b- restraint  

    c- cloth                                d- monkfish  

6- He lost his leg when he was ten, but learned to ............... his handicap.   

    a- deviate                           b- safeguard  

    c- overcome                     d- shred  

 



 

 

7- Revealing ...................... information to a rival company could land you  

    in serious trouble with your boss.  

    a- unsung                          b- feasible  

    c- watchful                        d- confidential  

8- This cable should have a ..............at one end and a socket at the other.  

    a- plug                             b- vehicle  

    c- fire drill                         d- cloth  

9- Fahad didn’t even hear the teacher's question as he was ..................... 

    about his future career.  

    a- shredding                   b- daydreaming   

    c- colliding                      d- inflating  

10- It's perfectly ............... to produce electricity without creating pollution.  

    a- attached                      b- venomous  

    c- cautious                      d- feasible  

 

Fill in the spaces with the suitable word from the list:  

( objected - toothy - fundamental - CEO - intentional - drag ) 

11- The CEO decided to reshuffle the company's top management.  

12- We have to tackle the fundamental cause of the problem.  

13- It's so annoying having to drag out the sewing machine every time I  

want to make a dress.   

14- The committee strongly objected to the report's recommendations.   

15- The damage was not intentional but I was still annoyed.  

 

 



 

 

Fill in the spaces with the suitable word from the list:  

( vehicle - strip - safeguard - automatically - attached - falsehood ) 

16- The key is attached to a small chain for safekeeping. 

17- The police pursued the stolen vehicle along the motorway. 

18- It is sometimes difficult to disentangle truth from falsehood.  

19- The doors of the supermarket open automatically as people 

approach.  

20- We must take steps to safeguard our environment against  

      these threats. 

Fill in the spaces with the suitable word from the list:  

( strain - decelerate - cautious - vehicle  - securely - disregard ) 

21- The scientists are cautious about using the new therapy on humans. 

22- She locked the door securely before leaving for vacation. 

23- The vaccine may need to be updated to provide protection against  

      the new strain of virus. 

24- The driver had to decelerate when he spotted the red light ahead. 

25- The manager warned the employees not to disregard the  

       company's safety protocols. 

Fill in the spaces with the suitable word from the list:  

( fire drill - deviate - venomous - shred - intentional )  

26- His absence from the meeting was intentional, as he disagreed  

      with the proposed changes.  

27- During the fire drill, everyone evacuated the building calmly  

      and efficiently.  

28- The venomous jealousy between the siblings strained their relationship. 

29- The aircraft had to deviate from its flight path to avoid a storm. 



 

 

(GRAMMAR) 

From a, b, c and d choose the correct answer:   

1- All the applicants ..................... before the end of September, otherwise  

    they will not receive the instructions in time. 

        a- shouldn't register                          b- should have registered  

        c- shouldn't have registered             d- should register  

2- He ........................at 10, but he was almost half an hour late.  

       a- shouldn't arrive                             b- should have arrived  

       c- shouldn't have arrived                  d- should arrive  

3- You .................... this project completely before you start the next one.  

       a- should finish                             b- should have finished  

       c- shouldn't have finished                d- shouldn't finish  

4- You .................... him so much money when he asked. It will take you a  

     lot of time to get it back.  

      a- shouldn't lend                              b- shouldn't have lent  

      c- should have lent                          d- should lend  

5- You .....................; it's bad for you. 

     a- should have smoked                   b- should smoke  

     c- shouldn’t smoke                       d- shouldn’t have smoked  

From a, b and c choose the correct answer as required:  

6- I’m sorry for shouting at you – I (not, raise) my voice.                                  

                                                                                   (Correct the verb) 

    a- I’m sorry for shouting at you – I shouldn’t have raised my voice. 

    b- I'm sorry for shouting at you – I shouldn’t raise my voice.  

    c- I'm sorry for shouting at you – I shouldn’t have raising my voice. 

 



 

 

7- It’s getting cold. We should have (bring) our jackets.               

                                                                                   (Correct the verb) 

    a- It’s getting cold. We should have bringing our jackets.               

    b- It's getting cold. We should have brings our jackets.  

    c- It's getting cold. We should have brought our jackets.  

 

8- I fell into the water. I should have (be) more careful.                            

                                                                                    (Correct the verb) 

    a- I fell into the water. I should have being more careful.  

    b- I fell into the water. I should have been more careful.  

    c- I fell into the water. I should have be more careful.  

9- Sara (not skip) the class today, she missed a lot from today's lecture.                                                                            

                                                                                     (Correct the verb) 

    a- Sara shouldn't have skipped the class today, she missed a lot  

        from today's lecture.  

    b- Sara shouldn’t have skipping the class today, she missed a lot  

        from today's lecture. 

    c- Sara shouldn’t have been skipped the class today, she missed a lot  

        from today's lecture.    

10- I told you that you would get lost, you ...........................  (Complete)   

      a- should have taken a map with you.  

      b- should have been taken a map with you.  

      c- shouldn't take a map with you.  

 

 


